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Time Allowed ; .3.0_0 _!jlnuf!l MATH EMATICS

THIRD REVISION EXAMINATION -2025

[Max. Marks ! 100

Instructions : 1. Check the question paper for falrness of ﬁrlntlnq. If there Is any lack of

fairness Inform the hall supervisor Immediately.
2. Use Blue or Black Ink to write and underline and pencil to draw dlagrams.

Note: This question paper contains four parts,

PART - |

Note :  Answer all the 14 questions.

10.

11.
12,

13.
- 14.

15.
16.
11
18.

19.

20.
21,

Choose the correct answer from the given four alternatives and write the option

code and the corresponding answer. 1 14x1=14
A={a b p)B=(2 3),C={p q,rs)thenn[(AUC)xB]Is
a) 8 b) 20 c) 12 d)y 16
If _b;q-a' C*%'E, a+cb‘° are in A.P. then which of the following is In A.P?
a) a,b,c b) a? b2 ¢? c) Vg Vp, Mg d) none of these
The sum of the exponents of the prime factors in the prime factorization of 1729 Is
a) 1 b) 2 g) 3 d) 4
The solution of the systemx +y-3z2=-6,-7y+72=7,3z=9 s
a) x=1,y=22=3 - b) =-1,y=2,2=3
c) x=-1y=-22=3 ~ d) x=1y=-2,z2=3
If the reciprocal of the gradient of a.straight line is ¥3. Then the angle of inclination is
0) 5 G0 b) 30° c) 45° d) 90°
If number of columns and rows are not equal in a matrix then it is said to be a
a) diagonal matrix b) rectangular matrix
C) square matrix d) Identity matrix
If the volume of sphere is 36n cm?, then its radius Is equal to |
a) 3cm b) 2cm ¢) Scm d) 10cm
If AABC is an isosceles triangle with ZC = 90° and AC = 5§ c¢m, then AB Is
a) 2.5cm b) Scm c) 10cm d) 5v2 cm
The point of intersection of 3x-y=4andx+y=8 s
a) (5, 3) b) (2, 4) c) (3, 9) d (4 4)
When proving that a quadrilateral is a trapezium, it is necessary to show
a) Two sides are parallel. b) Two parallel and two non-parallel sides.
c) Opposite sides are parallel. d) All sides are of equal length.
tan® cosec?0 — tan0 is equal to
a) secH b) cot?0 c) sin@ d) cotd
A shuttle cock used for playing badminton has the shape of the combination of
a) a cylinder and.a sphere b) a hemisphere and a cone
c) a sphere and a cone d) frustum of a cone and a hemisphere
The curved surface area of a right circular cone of height 15.cm and base diameter 16 cm is
a) '60mcm? b) 68ncm? c) 120m cm? d) 136m cm?
A fair die is thrown once. The probability of getting E prime (or) composite number is
a) 1 b) 0 c) g d) g

PART - |l

Answer any 10 questions. Question No. 28 Is compulsory. - 10%x2=20

IfAx B ={(3, 2), (3, 4), (5, 2), (5, 4)} then find A and B.

A function f is defined by f (x) = 3 - 2x. Find x such that f (x?) = (f(x))?

‘a' and 'b' are two positive integers such that a® x b* = 800. Find ‘a' and ‘b’
Find the sum to infinity of 9 + 3 +1 + ........

Find the excluded values t
t2-5t+6

6l 4 11 -3 ‘

IfA= |1 3 9|,B=| -1 2 4| thenfind 2A + B.
-4,3 -1 7aes 0

Find the length of the tangent drawn from a point whose distance from the centre of a circle is 5 cm

and radius of the circle is 3 cm,
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: ™. e dimensienal P | 1)
if P(r, ) is the mld&:‘lnt fTh; line segment between the axes then show that -ll‘,-+ % -

Find the equation of a straight line which has slope - 514 and passing through the polrit (-1, 2).

Prove that %im—rciseeu cosecl + cotb
If the base area of a hemispherical solid is 1386 sq. metres, then find its total surface area.
A cone of height 24 cm is made up of modeling clay. A child reshapes it in the form of a cylinder of

same radius as cone. Find the height of the cylinder. _
If the mean and coefficient of variation of a data are 15 and 48 respectively, then find the value

of standard deviation.
A letter is chosen at random from the word "COVID NINETEEN". Find the probability that th

letter is (i) a vowel (ii) a consonant
PART - llI OF"
Answer any 10 questions. Question No. 42 is compulsory. - 410%5=50

IfA={5, 6}, B={4,5, 6), C={5,6, 7}, Show that AxA = (B x B) n (C x C).

Consider the functions f (x), g (x), h (x) as given below. Show that (fog)oh=fo (go h) in
case. f(x)=x-4,g(X)=x*and h(x) =3x-5 |

Priya eamned <:15,000 in the first month. Thereafter her salary increased by ¥ 1500 per year.
Her expenses are T 13,000 during the first year and the expenses increases by ¥ 900 per year.
How long will it take for her to save T 20,000 per month. i

The product of three consecutive terms of a Geometric Progression is 343 and their sum is
91/ Find the three terms. |

Find the square root of 64x4 - 16x® + 17x2 - 2x + 1.

A passenger train takes 1 hr more than an'express train to travel a distance of 240 km from,
Chennai to Virudhachalam. The speed of passenger train is less than that of an
express train by 20 km per hour. Find the average speed of both the trains. |

IFA = ( f ;) show that A=-5A+7, = 0
Show that the"angle bisectors of a triangle are concurrent.
Find the area of the quadrilateral formed by the points (8, 6) , (5, 1), (- 5, 12) and (- 4, 3).
Find the equation of the median and altitude of AABC through A where the vertices are A
(6,2),B (-5 —-1)and C (1, 9). :
An aeroplane at an altitude of 1800 m finds that two boats are sailing towards it in the same
direction. The angles of depression of the boats as observed from the aeroplane are 60° and
30° respectively. Find the distance between the two boats. ( V3 = 1.732)
A container open at the top is in the form of a frustum of a cone of height 16 cm with radii of its
lower and upper ends are 8 cm and 20 ¢m respectively. Find the cost of milk which can completely
fill a container at the rate of ¥ 40 per litre.
The time taken (in minutes) to complete a homework by 8 students in a day are given by
38, 49, 47, 44, 46, 43, 49, 53. Find the coefficient of variation.
A conical flask is full of water. The flask has base radius r units and height h units, the water is
?Ioulzed Into a cylindrical flask of base radius xr units. Find the height of water in the cylindrical -
ask.
PART - IV :
Answer all the questions. ‘ 2%x8=16
a) Construct a triangle similar to a given triangle PQR with its sides equal to 7/4 of the
corresponding sides of the triangle PQR. (scale factor 7/4 > 1)  (OR)
b) Construct a APQR in which QR = 5 cm, £P = 40° and the median PG from P to QR.is
4.4 cm.Find the length of the altitude from P to QR.
a) A company initially started with 40 workers to complete the work by 150 days. Later, it
decided to fasten up the work increasing the number of workers as shown below. :

Number of _v:r_t_:;_rker-s_(x) 40 QU S8 160 75
Number of days (y) 150 [120 [ 100 [80..

?) Graph the above data and identify the type of variation.
i) From the graph, find the number of days required to complete the work if th '

to opt for 120 workers? ! S o
(iii) If the work has to be completed by 30 days, how many workers are required?
b) Draw the graph of y = x2+ 3x + 2 and use it to solve x2 + 2x + 1 = 0 ; e
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